

HEALY SPORTSWEAR LLC 11415 Sunrise Gold Circle ste 7

Rancho Cordova California 95742 (866) 774 6219

www.healysportswear.com

Bill To

Jordan Paninski

INVOICE

#86817

Balance Due **\$7,590.00**

Invoice Date:

07/13/21

Terms:

Due on Receipt

Due Date:

07/13/21

•				
#	ltem & Description	Qty	Rate.	Amount
1	Dye sublimated FLAG football uniform (SALE) DESIGN 34775-3A	18.00	40.00	720.00
2	Free custom socks for FLAG team as the roster for this team is over 10 and place within this month	18.00	0.00	0.00
3	SILVER package (tackle twill) - 1 uniform (sleeveless top and A-line skirt) - 1 pair of socks - 1 hair bow - 1 pair of pompoms - 1 brief DESIGN 39372A— waiting update design	27.00	70.00	1,890.00
4	\$5 upgrade to the contrast pleated skirt	27.00	5.00	135.00
5	\$5 logo on the back of the top	27.00	5.00	135.00
6	YOUTH dye sublimated football package - 1 uniform (NO inside pocket unless required) - 1 football girdle - 1 duffle bag - 1 pair of custom socks DESIGN 34775-3B JUNIOR TEAM: 26 SENIOR TEAM: 18	44.00	85.00	3,740.00
7	ADULT sizes JUNIOR TEAM: 2 SENIOR TEAM: 9	11.00	5.00	55.00
8	Dye sublimated coach shirt DESIGN 34775-4	18.00	40.00	720.00
9	Larger than AXL	11.00	5.00	55.00

		<u>.</u>		حديث الراموة تعريبها الخايم	
#	Item & Description	Qty	Rate	Amount	
10	Extra duffle bag for coaches	4.00	35.00	140.00	
11	Standard shipping: 3 weeks from the full payment is received and the order detail is approved	1.00	0.00	0.00	
		_	Sub Total	7,590.00	
			Total	\$7,590.00	
		Balance Due \$7,590.00			
				大学	

Payment Options



Terms & Conditions

Due to procedures and safety policies as a result of Covid-19, our factory may be affected; we can not guarantee delivery dates. Your order may take extra time to arrive due to local regulations. We are making every attempt to ship your order as quickly as possible.

- 1) We don't accept the return or exchange for custom uniforms (which have your team name or logos, designs or your choosing colors). All sales is final, NO Refund for Custom Uniforms or accessories.
- 2) Customers are responsible for size so please make sure that you review our size chart or order sizing kits before place an order 3) We will send the order details with designs and all uniform's information to the customer so please review your order details carefully before we process. The order details will be a valid agreement between customers and our company. We will make the uniforms based on order details and will offer return or exchange if we fail to follow the order details. Otherwise, we are not responsible for wrong size, number, name which the customers gave to us.
- 4) Regarding to fabric materials and colors, each company has different materials and color tones so please make sure that you request for a sample or color samples to double check to match your team color. We are not responsible for mismatch color due to customer's choice. We also can't guarantee matching color with customer's current uniforms or accessories.



INVOICE

86817

Balance Due \$0.00

HEALY SPORTSWEAR LLC

Bill To

\$ \$

Jordan Paninski

11415 Sunrise Gold Circle ste 7 Rancho Cordova California 95742 (866) 774 6219 www.healysportswear.com

Invoice Date:

07/13/21

Terms:

Due on Receipt

Due Date:

07/13/21

	A CONTRACTOR OF THE CONTRACTOR	<u> </u>	. <u> </u>	ي وي
#	Item & Description	Qty	Rate	Amount
, 1 ,	Dye sublimated FLAG football uniform (SALE) DESIGN 34775-3A	18.00	40.00	720.00
2	Free custom socks for FLAG team as the roster for this team is over 10 and place within this month	18.00	0.00	0.00
3	SILVER package (tackle twill) - 1 uniform (sleeveless top and A-line skirt) - 1 pair of socks - 1 hair bow - 1 pair of pomporns - 1 brief DESIGN 39372A— waiting update design	27.00	70.00	1,890.00
4	\$5 upgrade to the contrast pleated skirt	27.00	5.00	135.00
5	\$5 logo on the back of the top	27.00	5.00	135.00
6	YOUTH dye sublimated football package - 1 uniform (NO inside pocket unless required) - 1 football girdle - 1 duffle bag - 1, pair of custom socks DESIGN 34775-3B JUNIOR TEAM: 26 SENIOR TEAM: 18	44.00	85.00	3,740.00
7	ADULT sizes JUNIOR TEAM: 2 SENIOR TEAM: 9	11.00	5.00	55,00
8	Dye sublimated coach shirt DESIGN 34775-4	18.00	40.00	720,00
9	Larger than AXL	11.00	5.00	55.00

1

Item & Description	Qty	Rate	Amount
Extra duffle bag for coaches	4.00	35.00	140.00
Standard shipping: 3 weeks from the full payment is received and the order detail is approved	1.00	0.00	0.00
		Sub Total	7,590.00
		Total	\$7,590.00
	Paym	ent Made	(-) 7,590.00
	Bal	ance Due	\$0.00
	Extra duffle bag for coaches Standard shipping: 3 weeks from the full payment is received	Extra duffle bag for coaches 4.00 Standard shipping: 3 weeks from the full payment is received and the order detail is approved Payment	Extra duffle bag for coaches 4.00 35.00 Standard shipping: 3 weeks from the full payment is received and the order detail is approved Sub Total

Terms & Conditions

Due to procedures and safety policies as a result of Covid-19, our factory may be affected; we can not guarantee delivery dates. Your order may take extra time to arrive due to local regulations. We are making every attempt to ship your order as quickly as possible.

- 1) We don't accept the return or exchange for custom uniforms (which have your team name or logos, designs or your choosing colors). All sales is final, NO Refund for Custom Uniforms or accessories.
- 2) Customers are responsible for size so please make sure that you review our size chart or order sizing kits before place an order 3) We will send the order details with designs and all uniform's information to the customer so please review your order details carefully before we process. The order details will be a valid agreement between customers and our company. We will make the uniforms based on order details and will offer return or exchange if we fail to follow the order details. Otherwise, we are not responsible for wrong size, number, name which the customers gave to us.
- 4) Regarding to fabric materials and colors, each company has different materials and color tones so please make sure that you request for a sample or color samples to double check to match your team color. We are not responsible for mismatch color due to customer's choice. We also can't guarantee matching color with customer's current uniforms or accessories.